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QUESTION 1

Which SQL statement will retrieve the employee number (EMPNO), hire date (HIREDATE), and salary (SALARY) for
each employee from a table named EMPLOYEE who was hired before 1998 and earns a salary of less than $35,000.00
per year? 

A. SELECT empno, hiredate, salaryFROM employeeFOR hiredate 

B. SELECT empno, hiredate, salaryFROM employeeWHERE hiredate 

C. SELECT empno, hiredate, salaryFROM employeeWHERE hiredate 

D. SELECT empno, hiredate, salaryFROM employeeFOR hiredate 

Correct Answer: B 

 

QUESTION 2

When is it appropriate to use a sequence? 

A. When you want to control the order in which triggers are fired. 

B. When you want to control the order in which stored procedures can be invoked. 

C. When you want to automatically generate a numeric value that is not tied to any specific column or table. 

D. When you want to automatically generate a numeric value for each row that is added to a specific table. 

Correct Answer: C 

 

QUESTION 3

When a COMMIT statement is executed, what happens? 

A. All locks held on the database are automatically released. 

B. Data stored in global temporary tables is automatically deleted. 

C. Open cursors defined WITH HOLD are closed, but their data is retained. 

D. The current transaction is terminated and a new transaction boundary is started. 

Correct Answer: D 

 

QUESTION 4

What are INSTEAD OF triggers used for? 
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A. To update data in other tables. 

B. To perform insert, update, and delete operations against complex views. 

C. To check or modify values before they are actually stored in a database. 

D. To run non-database operations that are coded in user-defined functions. 

Correct Answer: B 

 

QUESTION 5

Given the following DDL statement: CREATE TABLE sales (item CHAR(20)); If a DBA wishes to increase the size of the
ITEM column, which SQL statement needs to be used? 

A. ALTER TABLE sales ADD COLUMN item CHAR(40); 

B. ALTER TABLE sales ALTER COLUMN item CHAR(40); 

C. ALTER TABLE sales MODIFY COLUMN item CHAR(40); 

D. ALTER TABLE sales ALTER COLUMN item SET DATA TYPE CHAR(40); 

Correct Answer: D 
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